ST OIREMERRENOERERAOLEEAD

WAL BB
SHEENRANBRRTERERNSEIEORBOFBEE
R BT | pe EREH A
REn®E | AR 588 R K As P Z0Htt 5t 1))
H23.3.11 [ Re.10.31 | Bt | Suesmblt | Bas | Sueimut | Ba% | S50t
= mEEE | HE ! U s . e of
L1 R D 2 0 0
— i 1 0 0
E 8 14 SR W I N W I R I
R RRIEET R 5 . -
BHRE 1 127 99 A sl M 49]
HREE | Ap 532 278 104
g | mammmn | %] soo 2500 171 [N o o 74
B | mRERRE [\ o 12,308 5,903 3, 1,540
- e 3, 791 250 174 = 2o 792]
) PN= 12, 840 6,181 3, 1. 644
IBEE B 7 A ey ey e 0
HEES | o i 3 0
AEsgiEs | HH 377 229] 200/ I3 21c 34]
RETE | gm0 17427 507 64
" 1% 384 A e > 341
) A0 1,439 600 64
T 4,175 2,83 1, S - 826|
2 SERTAT | e 14,279 6,781] 4,351 ; : 1,708
e 16, 401 17,877 615
o) .................................
RETE | TOMRE | 45677 39, 488 1,066
s 3,462 3, 705 69
o) ..............................................
B TOuER - 11, 603 9, 656 113
- s 19,863 21,582 684
a) ..........................................
TSR PN= 57,280| 49,144 1,179
o e 24,039] 24 412] 1,975
= PN= 71,561| 55,925 4, 351

1 EREFADTEREXRESRICEFOFEIOASIBETICAASA T2 EICE L,

2 BEADG@##EFERERSATLERICEL,

3 HHEENELIGHICHEEL TS T XD H 50, EREFHHTHEEROBEHEFRIIRLS,
4 ZOMRE---E#ERXE - RS TREERUO =X,

BEERX - RETX

| 35H 2 5 T A2 PR % DX 5 (20kmEE 5}

EREHRR

BRI
zL

JRETX

|8 543 1l IR B 12
FEREHKR

BRI
JE{ER

66.67%

NEX - RETRX

Vi RS X g
RS

EE
BETRH

Rl

LiEIESES

i B AR

Vi RS X ig

(B E PR

B BB TRARRR A R XI5

J11]

T DD R

RO XIEBIE 5% BEEX

BEEXE
EREHFIKR
BERR
EEES
99. 55%

{ERBRRR
BAERR
EiEE
99. 55%

[T X

ZOBORE
ERBRKR
|17 8774#%] 39,4880
BRI
B
98. 95%

TRET B
1B 75 < AR 2 R X 3, (20KmEEI )
ERBRRR

RATXE
ERBSRKR
BAERR

EERT
EEE
BT 98.76%

85. 93%

MERX
R EEERE |8 35 SR TR AR R 2E i X g
EREZHIKR FEREHKR
BERKR BIERKR
BiEE BiEE

B E

RS
| 2.5094##] _6.181Al
BAERR

NEX

| 1,774 3,836
BIER
62. 06%

63. 44%




